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2z | A2 | A7) A 2| zoz | .
= plof 2 | | mpen | g = | A2 27 | 2 52 s A | u m
(mm) | (m) M A o wse | %7 A (r2z) LI I
13 1 125,340 108,520 2,230 19,230 59,700 44 000 359,020 79,000 438,020
20 1 141,330 134,560 3,660 19,230 83,500 50,300 432,580 117,000 549,580
25 1 195,370 134,560 5,350 19,230 94,700 74,0001 523,210 196,000 719,210
40 1 323,650 177,100 4,480 19,2301 194,900| 149,000| 868,360 392,000| 1,260,360
0. TRTZIS o2l TS B 20| BHAFEF ZoO|H, B 2 ZALo{Ziol mat W = % Uch.
x &t 1 - Z32|ETFZF: 74 ,0308//m - ofAEF2Zt:65,2908/m - E . X=7Zt:16,310&/m
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1. EALFZE
(rel - 2)
zaE (A 2| H | H | znz | .
= kol A E=F VO o N = 270 | a2 A 2 3t 8] 3
13 1 125,340 108,520 2,230 19,230 59,700 44,000 359,020 79,000 438,020
20 1 141,330 134,560 3,660 19,230 83,500 50,300 432,580| 117,000 549,580
25 1 195,370 134,560 5,350 19,230 94,700 74,000| 523,210 196,000 719,210
40 1 323,650 177,100 4,480 19,230 194,900 149,000| 868,360 392,000| 1,260,360
« & o 0. A7 ¥ ESE2 FUCUIZEsIH FACIHHIEAl HE &8t




(ete : 2
jf’m; i*ma)' saez | 0% |mmeg| = 3 | D2 e |2 oo (iiﬁ) s A |8 B
13 1 125,340 108,520 2,230 93,260 59,700 44 000 433,050 79,000 512,050
20 1 141,330 134,560 3,660 93,260 83,500 50,300 506,610 117,000 623,610
25 1 195,370 134,560 5,350 93,260 94,700 74,000 597,240 196,000 793,240
40 1 323,650 177,100 4,480 93,260 194,900| 149,000 942,390 392,000| 1,334,390
WE D |0 A Y EsES PoektEsie TelEHHAAl WA &8t




i =1 .
S e ApsM | 2 2 Azl |~ A | 2B o# oA
(mm) (=)

13 125,340 2,230 84,520 44 000 424,310 79,000 503,310
20 141,330 3,660 84,520 50,300 497,870 117,000 614,870
25 195,370 5,350 84,520 74,000 588,500 196,000 784,500
40 323,650 4,480 84,520 149,000 933,650 392,000 1,325,650
* &t il 0. AZ7| ¢ & ctyt=2 510 2olct Z Hastct




4, B Xtz =8 727t

(ete : 2
jf’m; i*ma)' saez | 0% |mmeg| = 3 | D2 e |2 oo (iiﬁ) s A |8 B
13 1 125,340 108,520 2,230 35,540 59,700 44 000 375,330 79,000 454,330
20 1 141,330 134,560 3,660 35,540 83,500 50,300 448,890 117,000 565,890
25 1 195,370 134,560 5,350 35,540 94,700 74,000 539,520 196,000 735,520
40 1 323,650 177,100 4,480 35,540 194,900| 149,000 884,670 392,000| 1,276,670
WE D |0 A Y EsES PoektEsie TelEHHAAl WA &8t




ME = 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
D15mm P628
EE0|24H D50x15 1.00| = | 74,200 37,100| 37,100 0| 37,100 37,100 0
STSO|ZU 20x15mm 1.00| 7H 8,400 4,200 4,200 0| 4,200 4,200 0
MPEH = 220 16mm 1.00| 7H 2,724 1,362 1,362 0| 1,362 1,362 0 0
Ctrds R 50%13~20mm 1702 45,501 45,501| 43,751 43,751 0| 1,750 1,750
2~ A 88,163 43,751 42,662 1,750
2 = 2| 5,075| A" = 4| X 11.6% = 5,075
7|E} AH| 5,489 (M 2H| + . FH|) X 6% = 5,489
sl EI L] 5,924| (M 28| + ‘28| + ZH]) X 6% = 5,924
A 2 M| O|(MEH| + & + ALEZH|) X 0% = 0
ol z 9,298|(lcRH| + | + Lt@a|d]) X 15% = 9,298
A 113,949
BILIEx| Al 11,395
gt AH| 125,344 = 125,340




ME o 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
1-2. 22dZ D20mm P628
MEZo| 24 D50x20 1.00] = | 48,500 48,500 0| 48,500 48,500 0
STSOo|dd = 20x20mm 1.00| 74 4,540 4,540 0| 4,540 4,540 0
MPEH = 220 20mm 1.00| 7H 2,350 2,350 0| 2,350 2,350 0 0
B3I E7] 50%13~20mm 1702 45,501 45,501 | 43,751 43,751 0| 1,750 1,750
2~ A 100,891 43,751 55,390 1,750
FdeSE ] 5,075 A =FH| X 11.6% = 5,075
7|et ZH| 6,253 |(M 24| + = RH[) X 6% = 6,253
Ugkata|y] 6,733|(MEH| + =F4| + AH[) X 6% = 6,733
A 2 M| O|(MEH| + & + AEZH|) X 0% = 0
ol 7 9,534|('cFH| + Zd| + A gtEa[d]) X 15% = 9,534
A 128,487
BI17kx| M| 12,849
=) A 141,335 = 141,330




ME o 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = Z « =l = A = = o = o
1-3. 22AZ D25mm P628
MEZo| 24 D50x20 1.00| = | 65,600 65,600 0| 65,600 65,600 0
STSO|ZA 20x20mm 1.00| 7H 6,190 6,190 0| 6,190 6,190 0
MPEH = 220 20mm 1.00| 7H 3,770 3,770 0| 3,770 3,770 0 0
ReteHI 27 50%13~20mm 1|70 63,702 63,702 | 61,252 61,252 0| 2,450 2,450
2~ A 139,262 61,252 75,560 2,450
FdeSE ] 7,105\ - = H| X 11.6% = 7,105
7|et ZH| 8,635 |(MZH| + - RH[) X 6% = 8,635
Ugkata|y] 9,300 (M EH| + =FH| + AH[) X 6% = 9,300
A 2 M| O|(MEH| + & + AEZH|) X 0% = 0
ol 7 13,311 (=] + Zd| + dbaa|d]) X 15% = 13,311
A 177,614
IR M| 17,761
&t AH| 195,375 = 195,370




ME = 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
D40mm P628
EE0|24H D80x40 1.00| = | 122,600 122,600 0 [122,600| 122,600 0
STSOo|dd = 50x40mm 1.00| 7M 13,710 13,710 0| 13,710 13,710 0
MPH 2 470 40mm 1.00| 7H 24,220 24,220 0| 24,220 24,220 0 0
Ctrds R 80*40~50mm 1702 77,352 77,352 | 74,377 74,377 0| 2,975 2,975
2~ A 237,882 74,377 160,530 2,975
FdeSE ] 8,628| MY =FH| X 11.6% = 8,628
7|et ZH| 14,612|(M E2H| + =2H|) X 6% = 14,612
Ugkata|y] 15,667 (M EH| + =RH| + ZH|) X 6% = 15,667
A 2 M| O|(MEH| + & + AEZH|) X 0% = 0
ol 7 17,439 | (4| + Zd| + dbaa|d]) X 15% = 17,439
A 294,228
IR M| 29,423
=) A 323,650 = 323,650




ME = 5 o = 8 oy M= | 4 1l
E o = Hl 2
X | et Z « =l = A = = o = = A
D50mm P628
E&ol24H D80x40 1.00| @ | 165,300/ 165,300 0 |165,300| 165,300 0
STS®HUe 50x40mm 1.00 21,850 21,850 0| 21,850 21,850 0
Zolza A STS 50mm 1.00 17,360 0] 17,360 17,360 0
MPgE 2 A7 40mm 1.00 31,340 31,340 0| 31,340 31,340 0 0
CEHIE 80%40~50mm 1 81,902 81,902 | 78,752 78,752 0| 3,150 3,150
2~ A 317,752 78,752 235,850 3,150
2 e Ry 9,135|X Y 4| X 11.6% = 9,135
7|E} AH| 19,424 (M 2H| + = FH|) X 6% = 19,424
Ugkata|y] 20,779 (M 28| + = RH| + ZH|) X 6% = 20,779
A 2 M| O|(MEH| + & + AEZH|) X 0% = 0
ol z 19,686 |(‘fH| + ZH| + dHbata|d]) X 15% = 19,686
Al 386,776
IR M| 38,678
gt AH| 425,453 = 425,450




M2y = = oy L 2 Moo= oH| g Bl
= o el % H|
x5 | It = % = = A = = % = = A
2-1. A7 & E5& MX D13mm
HSEMR| o 2 3 0.148| ¢! | 163,848 24,249 (163,848 24,249
HE2F 0.148| 2/ | 109,819 16,253 {109,819 16,253
HEI|MX| o 2 3 0.102| ¢! | 163,848 16,712 [163,848 16,712
H2HEoF 0.102] o | 109,819 11,201 109,819 11,201
HHEIIESE 800mm 1] EA ok
2~ A 68,415 68,415 0
2 = 2| 7,936 | A - = FH| X 11.6% = 7,936
J|et ZH| 4,581 |(MZ2H| + ' FH|) X 6% = 4,581
dtatz|] 4.856|(MZ2H| + 24| + ZH[) X 6% = 4,856
B B | O|(RHZH| + 2 + MEZHH]) X 0% = 0
ol i 12,868 |(\cFH| + ZH| + dgkaa|d]) X 15% = 12,868
| 98,656
SR M| 9,866
gt A 108,521 = 108,520




M2y = = oy L 2 Moo= oH| g Bl
= o el % H|
X = o =l = A = = o = = A
2-2. A7 ¥ 258 MR D20mm
2ESEMX| i 2 & 0.188| 2l | 163,848 30,803 |163,848 30,803
2ol 0.188] ¢ | 109,819 20,645 (109,819 20,645
AZ7| M| i 23 0.122| EA| 163,848 19,989 163,848 19,989
2ol 0.122| EA| 109,819 13,397 (109,819 13,397
AL ESE 800mm 1| EA RS
2~ A 84,834 84,834 0
FdeSE ] 9,841 | AT - FH| X 11.6% = 9,841
7|et ZH| 5,680 (M 2H| + = FH|) X 6% = 5,680
sl EI L] 6,021 |(MZH| + =FH| + AH[) X 6% = 6,021
2HE 2 M| O|(MBEH| + & + ALEZH|) X 0% = 0
ol z 15,956 |(‘cfH| + ZH| + dHbata|d]) X 15% = 15,956
A 122,333
IR M| 12,233
) AH| 134,566 = 134,560




ME = 5 o = 8 oy M = od| 4 1l
= o el % H|
X = o =l = A = = o = = A
2-3. A7 ¥ 258 M% D25mm P981
2ESEMX| i 2 & 0.188| 2l | 163,848 30,803 |163,848 30,803
2ol 0.188] ¢ | 109,819 20,645 (109,819 20,645
HZ7| 4| i 23 0.122] 21 | 163,848 19,989 163,848 19,989
2ol 0.122| 2l | 109,819 13,397 (109,819 13,397
AL ESE 800mm 1| EA oA
2~ A 84,834 84,834 0 0
FdeSE ] 9,841 | AT - FH| X 11.6% = 9,841
7|et ZH| 5,680 (M 2H| + = FH|) X 6% = 5,680
sl EI L] 6,021 |(MZH| + =FH| + AH[) X 6% = 6,021
2HE 2 M| O|(MBEH| + & + ALEZH|) X 0% = 0
ol z 15,956 |(‘cfH| + ZH| + dHbata|d]) X 15% = 15,956
A 122,333
IR M| 12,233
gt AH| 134,566 = 134,560




ME = 5 o = 8 oy M = od| 4 1l
= o el % H|
X = o =l = A = = o = = A
2-4. A7 Y E5 8 M D40mm P981
2ESEMX| i 2 & 0.253| 2l | 163,848 41,453 |163,848 41,453
2SeF 0.253| 2 | 109,819 27,784 109,819 27,784
HZ7| 4| i 2 S 0.155| EA| 163,848 25,396 |163,848 25,396
2ol 0.155| EA| 109,819 17,021 (109,819 17,021
AL ESE 800mm 1| EA oA
2~ A 111,654 111,654 0 0
FdeSE ] 12,952| A ™ = 24| X 11.6% = 12,952
7|E} AH| 7,476 (M 2H| + = FH|) X 6% = 7,476
Ugkata|y| 7,925\ (M 28| + =28 + ZH]|) X 6% = 7,925
2HE 2 M| O|(MBEH| + & + ALEZH|) X 0% = 0
ol 7 21,001 | (' RH| + Zd| + detaald]) X 15% = 21,001
A 161,008
IR M| 16,101
) AH| 177,109 = 177,100




ME = 5 o = 8 oy M = od| 4 1l
= o el % H|
X = o =l = A = = o = = A
2-5. A7 & 25 & MXl D50mm P981
2ESEMX| i 2 & 0.253| 2l | 163,848 41,453 |163,848 41,453
2SeF 0.253| 2 | 109,819 27,784 109,819 27,784
HZ7| 4| i 2 S 0.155| EA| 163,848 25,396 |163,848 25,396
2ol 0.155| EA| 109,819 17,021 (109,819 17,021
AL ESE 800mm 1| EA oA
2~ A 111,654 111,654 0 0
FdeSE ] 12,952| A ™ = 24| X 11.6% = 12,952
7|E} AH| 7,476 (M 2H| + = FH|) X 6% = 7,476
Ugkata|y| 7,925\ (M 28| + =28 + ZH]|) X 6% = 7,925
2HE 2 M| O|(MBEH| + & + ALEZH|) X 0% = 0
ol 7 21,001 | (' RH| + Zd| + detaald]) X 15% = 21,001
A 161,008
IR M| 16,101
) AH| 177,109 = 177,100




ME = 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
2AM (D16mm) m& P595
! i 2 & 0.0012| 91 | 163,848 196 [163,848 196
2SeF 0.0013| 1 | 109,819 142 {109,819 142
sgolo|= H EHZ 1.00| m 1,350 1,350 0| 1,350 1,350
2~ A 1,688 338 1,350 0
2 e Ry 39| A/ =2H| X 11.6% = 39
7|et ZH| 104 |(M 2H| + =2H|) X 6% = 104
sl L] 110[(MZH| + =FH| + AH[) X 6% = 110
B B | O|(RHZH| + 2= + MEZH]) X 0% = 0
ol & 89|(:=FH| + ZH| + LetA|H|) X 15% = 89
A 2,029
SI7EA|A| 203
=) A 2,232 = 2,230




ME = 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
2A (D20mm) m& P595
! i 2 & 0.0013| ¢ | 163,848 213 |163,848 213
2ol 0.0015| @ | 109,819 164 (109,819 164
Fatuol= H EHE 1.00| m 2,440 2,440 0| 2,440 2,440
2~ A 2,817 377 2,440 0
21 2 H| A4|AIF = 2H| X 11.6% = 44
7|et ZH| 172|(M 2| + = 2H|) X 6% = 172
sl L] 182[(M 28| + =FH| + AH[) X 6% = 182
2HE 2 M| O|(MEH| + & + ALEZH|) X 0% = 0
ol i3 116|(l=RH| + ZH| + LHka|d]) X 15% = 116
A 3,330
IR M| 333
=) A 3,663 = 3,660
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M2y cl = OH L 2o AN =2 d 4 ]
E o Hl 2
X = o =l = A = = o = = A
2AM (D25mm) m& P595
! i 2 & 0.0018| ¢ | 163,848 294 163,848 294
2SeF 0.0022| 2 | 109,819 241 1109,819 241
sgolo|= H EHZ 1.00| m 3,590 3,590 0| 3,590 3,590
2~ A 4,125 535 3,590 0
2 o 2| 62| B = FH| X 11.6% = 62
7|et ZH| 251 (M BH| + = FH|) X 6% = 251
Ugkata|y] 266|(MZH| + = 78| + ZH]) X 6% = 266
2HE 2 M| O|(MEH| + & + ALEZH|) X 0% = 0
ol i3 167|(l=RH] + Zd] + LHkaa|d]) X 15% = 167
A 4,872
7RI A 487
gt AH| 5,358 = 5,350
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ME o 5 o = 8 oy M = od| 4 1l
= o el % H|
x5 | =t Z « =l = A = = o = = A
3-4. 2 25H (D40mm) me P595
! i 2 & 0.0030| 9! | 163,848 491 163,848 491
2ol 0.0037| 2 | 109,819 406 {109,819 406
PER PE 1.00| m 2,440 2,440 0| 2,440 2,440
2~ A 3,337 897 2,440 0
FdeSE ] 104|HH = 2H| X 11.6% = 104
7|et ZH| 206|(MEH| + = FH|) X 6% = 206
sl L] 219|(M 28| + = 7| + ZH|) X 6% = 219
2HE 2 M| O|(MEH| + & + ALEZH|) X 0% = 0
ol i3 214| (= | + Zd| + Lek2|d]) X 15% = 214
A 4,080
IR M| 408
5t A 4,488 = 4,480

23



ME = 5 o = 8 oy M= | 4 1l
= o el % H|
X = Z « =l = A = = o = = A
4-1. ES EARZHEHID| & 57) 1mE
E| m} 7| 212420%,7|#1(0.2m)80% 0.720| m* 8,138 5,859 7,253 5,222 339 244 546 393
o7 ek 212420%, 714 (0.2m)80% 0.720| m’ 9,057 6,519 7,995 5,756 522 375 540 388
2~ A 12,378 10,978 619 781
M = 2| 1,273| A - 2H| X 11.6% = 1,273
7|et ZH| 772| (M ZH| + =RH|) X 6% = 772
erata|d| 865|(M2H| + = 4| + ZH|) X 6% = 865
B 2 M| O|(KHEH| + 2= + MEHH|) X 0% = 0
ol z 2,201 |(lcFH| + | + LPA2|H]) X 15% = 2,201
Al 17,490
SR M| 1,749
&t A 19,238 19,230

24



M2y = = oy L 2 Moo= oH| g Bl
= o el % H|
Ao 2 = = N = = A = = A = = A
4-2. EZ ZAR|EFZLEIVILET) 1mY
ZH2|E TR 1A 2/m 2,798 5,596 | 2,016 4,032 743 1,486 39 78
Z32|E TR 1A 0.14|m 47,821 6,694 | 32,223 4,511 | 5,538 775 | 10,060 1,408
B o} | °I342O%,7l/j4l(0.2m3)80 0.600| m’ 8,138 4,881 | 7,253 4,351 339 203 546 327 g5
S0 2712 cha HH20% 7VA0.2m80 | g 60g | 0057|5434 | 7995 4797 | 522 313 | 540 324|253
=7 23z2|E 0.700| m: 27,470 19,228 | 22,997 16,097 | 2,120 1,484 | 2,353 1,647
2ol 2 25-21-08 0.140 59,400 8,316 0 0 | 59,400 8,316 0 0
Ex71% 40mm Ol st 0.140 13,000 1,820 0 0| 13,000 1,820 0 0
H 7| &2l HZEZ32E 0.322 23,000 7,406 0 0 0 0 | 23,000 7,406
H 7|22 HZ 158 0.322 15,226 4,902 0 0 0 0| 15,226 4,902
2~ A 64,277 33,788 14,397 16,092
Uy R 3,919|AZH = FH| X 11.6% = 3,919
7|t A 3,126|(F2H| + =FH|) X 6% = 3,126
sl EI L] 4,279|(MEH| + =4| + AH[) X 6% = 4,279
etA B x| O|(MHZH| + &= + MEAHH]) X 0% = 0
ol 7 9,181|('cFH| + Zd| + A gtEa[d]) X 15% = 9,181
Al 84,783
7RI A 8,478
gt A 93,261 = 93,260
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=Y o 5 o = 8 oy M = od| 4 1l
= o el % H|
x5 = Z « =l = A = = o = o
4-3. EZ otAZTZHH I & 57) imY
OIAEE ZFACE 21 2.000| m’ 2,025 4,050 | 1,318 2,636 673 1,346 34 68 |2
ofAZE ZFI 7 717 0.105| m* | 12,365 1,298 | 8,058 846 | 1,602 168 | 2,705 284 (952
B I} 7| 212420% 7171(0.21)80% 0.630| m’ 8,138 5,125 | 7,253 4,569 339 213 546 343 |¥s3
= e = oS 212420%,717(0.2m)80% 0.510| m’ 9,057 4,618 7,995 4,077 522 266 540 275 |4E3
ZE =T a2 0.700| m* | 27,710 19,396 | 22,997 16,097 | 2,360 1,652 | 2,353 1,647 |92
otAZ #78(EE8) 0.083| m° | 57,000 4,731 0 0| 57,000 4,731 0 0|gs2
glo|Z 25-21-08 0.140| m° | 59,400 8,316 0 0| 59,400 8,316 0 0|gs2
BEx7E 40mmol st 0.140| m° | 13,000 1,820 0 0| 13,000 1,820 0 0|gs2
H7|Exz2/d| Hojaz 0.247| m* | 24,000 5,928 0 0 0 0 | 24,000 5,028 |¥E2
H 7| 22| Y= 158 0.247| m° | 15,226 3,760 0 0 0 0| 15,226 3,760 |¥52
2~ A 59,042 28,225 18,512 12,305
ZH = 2| 3,274| A - FH| X 11.6% = 3,274
1=l 3,001 |(MEH| + . FH|) X 6% = 3,001
etztald| 3,919|(MZH| + . FH| + ZH|) X 6% = 3,919
s 2 M| O|(MMZH| + & + MEZH|) X 0% = 0
ol z 7,609 |(= | + ZH| + Leta2[H]) X 15% = 7,609
Al 76,844
BIt7EXIAM| 7,684
&t AH| 84,528 = 84,520
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ME o 5 o = £ H M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
4-4. EZ SHFH(EHID] & 57) 1mE
LHENAEE HA 0.700| mw’ 1,175 822 | 1,175 822 0 0 |gs3
B o} 7| 212420% 7| 41(0.2)80% 0.672| m’ 8,138 5,467 | 7,253 4,874 339 227 546 366 |45
= 7| ek 212410%,7174(0.21)90% 0.630| m’ 9,057 5,704 | 7,995 5,036 522 328 540 340 |¥s3
SHIUEE ZHET t=8cm 0.700| m* | 18,078 12,653 | 4,071 2,849 | 13,352 9,346 655 458 |9E3
ES | 24,646 13,581 9,901 1,164
2HY = 2| 1,575\ A - = 24| X 11.6% = 1,575
7|t Ay 1,503 | (M ZH| + L= FH|) X 6% = 1,503
erata|d| 1,663 (M 2| + =FH| + ZH|) X 6% = 1,663
i RS ] O|(MZH| + &= + MEZH|) X 0% = 0
ol s 2,923|(cFH| + | + LPA2|H]) X 15% = 2,923
Al 32,311
B4 M| 3,231
&t AH| 35,542 = 35,540
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0.70
o] 2(25-21-8)
0.2
1.2
1.0
0.5
0. SEMBA
= = Mg =2 Z A = 2 ck 2|
S ((0.70 + 0.50) = 2.0) X 1.0 X 1.0 = 0.600 -
g o < 7| ((0.70 + 0.50) =+ 2.0) X 1.0 X 1.0 = 0.600 -
=32 oy 0.20 X 0.70 X 1.0 = 0.140 -
=3z ™ot 1.000 + 1.000 = 2.000 m
=38 28 0.70 X 0.20 X 1.0 = 0.140 -
HII2(232E) 0.20 x 0.70 x 1.0 x 2.3 = 0.322 ton
elal 2 020 X 0.70 X 1.0 = 0.140 :
(25-21-8) ' ' e ' m
2EEY .
= m
(5 100-100) 0.70 x 1.0 x 0.9 0.63




TAD =
ESTELMEAN
3. ofA &= EZ &7t
0. EFCiHE
| 0.70 | OIAZ(EZ #76)
| 1
0.05] A
0.1] ] OlAZ(7|Z #467)
] _
0.2] H X7\ (MA140mm0| 5
1.2
0.85
0.5
0. FFLEN
= = 4 5 2 7 >3 | el
B ot 7 ((0.700 + 0.50) = 2.0) x 1.05 x 1.0 = 0.630 m
= o 7] ((0.700 + 0.50) + 2.0) X 0.85 X 1.0 0.510 m’
ofAZ mAY 0.15 X 0.70 X 1.0 = 0.105 m
OfAZ At 1.000 + 1.000 = 2.000 m
ofAZ Z A 0.70 X 1.000 = 0.700 m
2 x 7 =
_ 07X 02 X 1.0 = 0.140 .
(M A 25mmolst) "
OlAZ (EZ #78) 0.05 X 0.70 X 1.0 = 0.035 m
OFAZ (7| = #467) 0.10 X 0.70 X 1.0 = 0.070 m
OIAZ (EZ #78) 0.035 X 2.35 = 0.082 ton
OFAZ (7| = #467) 0.07 X 2.35 = 0.164 ton




0.70
0.08 BT S
0.07 ~ 2 g
1.05
05
B

S A EF2 2 A =2 |Eh
[{(0.70 + 0.50) - 2.0} x 1.12]+
(0.07 X 0.70) X 1.0 = 0.679
((0.70 + 0.50) = 2.0) X 1.05 X 1.0 = 0.630
A 0.70 X 1.000 = 0.700
A X| 0.70 X 1.000 = 0.700

0.07 X 0.70 X 1.0 = 0.049




g A 2| HZHl 2 H

s H g g 7 A > 2 = o
o N = = T =T R = S S = -
H |232E Z357 B=0.7m m 64,279 33,789 14,397 16,093
23clE ZHEH JI A 2 m 2,798 5,596. 2,016| 4,032. 743 1,486. 39 78.
ZIJelEZFEMII gs0.2m 0.14 m 47,821 6,694.9| 32,223| 4,511.2) 5,538 775.3| 10,060| 1,408.4
HII(2=) BHS (0.2m )80%+21 & 20% 0.6 m 8,138 4.,882.8| 7,253 4,351.8 339 203.4 546 327.6
oI cE(EH) S (0.2m )90%+21 = 10% 0.6 m 9,057 5,434.2| 7,995 4,797. 522 313.2 540 324.
T SRE, ARL) 23elE 0.7 m 27,470\ 19,229.| 22,997| 16,097.9| 2,120| 1,484.| 2,353 1,647.1
diol2(UE)-A2 25-21-08 0.14 m 59,400 8,316. 0.| 59,400/ 8,316. 0.
ERIS(4XE-8Y) ®40mmO| St 0.14 m 13,000] 1,820. 0.] 13,000 1,820. 0.
HIIS Xl HE232E 0.322 Ton 23,000| 7,406. 0. 0.] 23,000 7,406.
HOIS 28I (A XL E) 30kmOlot, S L1568 0.322 Ton 15,226| 4,902.7 0. 0.| 15,226| 4,902.7
0 0 0
H |[OtAZE ZESR B=0.7m m 59,045 28,226 18,512 12,307
OtAZE ZAFHC I 2 m 2,025|  4,050. 1,318| 2,636. 673 1,346. 34 68.
OtAZEZZEINOI #s0.2m 0.105 m 12,365 1,298.2| 8,058 846.| 1,602 168.2| 2,705 284.
HII(E=) B (0.2m )80%+21 & 20% 0.63 m 8,138| 5,126.7| 7,253| 4,569.3 339 213.5 546 343.9
CHIILCHE (D) B85 (0.2m )90%+21 2 10% 0.51 m 9,057 4.,619. 7,995 4,077.4 522 266.2 540 275.4




olo

ICH 7t

=T

2 SR(AE, An2) OtAE(ES) 0.7 m 27,710 19,397.| 22,997| 16,097.9| 2,360| 1,652.| 2,353 1,647 .1
OLAZ(ME), B #78(HE58) 0.083 Ton 57,000| 4,731. 0.| 57,000 4,731. 0.

02 (HE)-At= 25-21-08 0.14 m 59,400/ 8,316. 0. 59,400 8,316. 0.
BRIES(HEUE-5Y) ®40mmO| 5t 0.14 m 13,000| 1,820. 0.| 13,000 1,820. 0.
HJI=SXelbl HOtAE 0.247 Ton 24,000| 5,928. 0. 0.] 24,000 5,928.

HJIS 28I (A XL E) 30kmOlot, S X158 0.247 Ton 15,226| 3,760.8 0. 0.] 15,226/ 3,760.8

0 0 0

H3ZH HZE S2(EA) B=0.7m m 12,378 10,978 619 781
HIDI(E=) S (0.2m )80%+21 2 20% 0.72 m 8,138 5,859.2| 7,253 5,222.1 339 244. 546 393.1
CHIILCHE(E) B85S (0.2m )90%+21 2 10% 0.72 m 9,057| 6,521.| 7,995| 5,756.4 522 375.8 540 388.8

0 0 0

H4SE AEDAES 8H & = B=0.7m m 11,173 9,910 556 707
AENLEST A 0.7 m 0 0. 0 0. 0 0. 0 0.
HII(24) B S (0.2m )80%+21 & 20% 0.672 m 8,138 5,468.7| 7,253| 4,874. 339 227.8 546 366.9
ColIILoE (dEH) S (0.2m )90%+21 2 10% 0.63 m 9,057| 5,705.8) 7,995| 5,036.8 522 328.8 540 340.2
AENYEE LEER t=8cm 0.7 m 0 0. 0 0. 0 0. 0 0.

0 0 0

H55H AEDNAESE EH m 1,175 1,175 0 0




olo

ICH 7t

=T

Sgelr X132 50% 0.0033 el 133,417 440.2| 133,417 440.2 0. 0.
2SR EXIZ2 50% 0.0067 ol 109,819 735.7| 109,819 735.7 0. 0.

0 0 0

H6SH AENAES ZF=EF t=8cm m 18,078 4,071 13,352 655
AEINAES UE T=8cm, =M 1.08 m 10,000| 10,800. 0./ 10,000 10,800. 0.

2ef (o= 0.07 m 30,000| 2,100. 0.| 30,000 2,100. 0.

28 a8 0.0067 el 109,819 735.7] 109,819 735.7 0. 0.

Eg R 0.0133 ol 133,417| 1,774.4] 133,417 1,774.4 0. 0.
ZdI0IE SHH 1.5Ton 0.0267 hr 26,951 719.4] 24,742 660.6| 1,696 45.2 513 13.6
SA(REAE) 0.6m 0.0267 hr 68,487 1,828.5| 33,754 901.2| 15,256 407.3| 19,477 520.
FEg L 249 3 % 4,072 122.1 0. 0.] 4,072 122.1

0 0 0

M7 |2 SA(HEH 28) D=15mm m 1,689 339 1,350 0
i 2t S(+=%) 0.0012 el 163,848 196.6| 163,848 196.6 0. 0.
2828 0.0013 ol 109,819 142.7| 109,819 142.7 0. 0.

SE Il Z (MP) D16 1 M 1,350| 1,350. 0 1,350 1,350. 0.

0 0 0

HesHE |HZ Rd(MEH Z28§) D=20mm m 2,817 377 2,440 0




olo

ICH 7t

=T

B2 (=) 0.0013 el 163,848 213.| 163,848 213. 0.
23R 0.0015 ol 109,819 164.7| 109,819 164.7 0.
SEIolZ(MP) D20 1 M 2,4401 2,440. 0 2,440 2,440.

0 0

Hos# |Az& RA(M=H =28) D=25mm m 4,126 536 3,590
i 2 B(=%) 0.0018 ol 163,848 294.9] 163,848 294.9 0.
237 0.0022 el 109,819 241.6] 109,819 241.6 0.
SEIHIZ (MP) D25 1 M 3,590 3,590. 0 3,590 3,590.

0 0

H10SE M2 2L(MEH Z8) D=40mm m 3,337 897 2,440
i 2 (=) 0.003 el 163,848 491.5| 163,848 491.5 0.
2R 0.0037 el 109,819 406.3| 109,819 406.3 0.

PE & (=2 2) D40mm 1 M 2,4401 2,440. 0 2,440 2,440.

0 0

ANEE BESS4X D=15mm ) 40,502 40,502 0
i 2 S(+=%) 0.148 el 163,848| 24,249.5| 163,848| 24,249.5 0.
2828 0.148 ol 109,819| 16,253.2| 109,819| 16,253.2 0.

0 0




olo
=T

ICH 7t

51,449

51,449

.188

163,848| 30,803.4

163,

848

30,803.4

20,645.9

,819

20,645.9

51,449

51,449

.188

163,848| 30,803.4

163,

848

30,803.4

20,645.9

,819

20,645.9

69,237

69,237

.253

163,848| 41,453.5

163,

848

41,453.5

.253

,819| 27,784.2

109,

819

27,784.2

27,913

27,913

.102

163,848| 16,712.4

163,

848

16,712.4

.102

109,819| 11,201.5

109,

819

11,201.5

33,387

33,387

122

163,848| 19,989.4

163,

848

19,989.4




olo

ICH 7t

=T

237 0.122 el 109,819| 13,397.9| 109,819| 13,397.9 0. 0.

0 0 0

H17&E =062 4X ®25mm H 33,387 33,387 0 0
i 2 B(=%) 0.122 ol 163,848| 19,989.4| 163,848| 19,989.4 0. 0.

23 0.122 el 109,819| 13,397.9| 109,819| 13,397.9 0. 0.

0 0 0

H18&E =0l 4X ®40-50mm H 42,418 42,418 0 0
i 2 B(=%) 0.155 ol 163,848| 25,396.4| 163,848| 25,396.4 0. 0.

232 0.155 el 109,819| 17,021.9] 109,819| 17,021.9 0. 0.

0 0 0

H198 E |PVCEIE &I D40+ 15mm p/ E 41,662 0 41,662 0
NMEZ0I2+8 (2, S.PE) D40 x 15 1 ES 36,100| 36,100. 0. 36,100 36,100. 0.

STS OIZ LS (LIALAL) 20 x 15mm 1 H 4,200| 4,200. 0.| 4,200 4,200. 0.

MpeEE A3 ® 16mm 1 H 1,362 1,362. 0 1,362 1,362. 0.
fH=dS20| D40+ 13~20mm 1 DJEA 0 0. 0 0. 0 0. 0.

0 0 0

H20&8 & |RH+=d3=2D| D40+ 13~20mm ) 42,654 41,014 0 1,640
i 2 S(+=%) 0.19 ol 163,848| 31,131.1| 163,848| 31,131.1 0. 0.




2ot

2827 0.09 el 109,819 9,883.7| 109,819| 9,883.7 0. 0.
SHEZLIITHIOIAZY) (=2 4 % 41,015 1,640.5 0. 0.] 41,015 1,640.5

0 0 0

H21SE [UAIE=Z A olS& FF ® 15mm A 10,928 10,928 0 0
B 2 3(=5) 0.06 el 163,848 9,830.8| 163,848 9,830.8 0. 0.

2808 0.01 ol 109,819 1,098.1| 109,819| 1,098.1 0. 0.

0 0 0

H228 H [UAIE= A olS& FF ®20mm A 12,027 12,027 0 0
i 2 (=) 0.06 el 163,848 9,830.8| 163,848| 9,830.8 0. 0.

2SR 0.02 el 109,819 2,196.3| 109,819| 2,196.3 0. 0.

0 0 0

H23S H [UAIE= A 0|S& FFE ® 25mm ) 16,942 16,942 0 0
i 2 (=) 0.09 el 163,848| 14,746.3| 163,848| 14,746.3 0. 0.

2SR 0.02 el 109,819 2,196.3| 109,819| 2,196.3 0. 0.

0 0 0

H24S 2 [LAIE A 0132 HE ®40mm A 21,317 21,317 0 0
i 2 (=) 0.1 ol 163,848| 18,023.2| 163,848| 18,023.2 0. 0.

2828 0.03 ol 109,819 3,294.5| 109,819 3,294.5 0. 0.




2ot

0

M5 H | ZAHE & 16mm A3 Al A 10,388 10,388
B 2 3(=5) 0.05 el 163,848| 8,192.4| 163,848| 8,192.4

2808 0.02 ol 109,819 2,196.3| 109,819| 2,196.3

0

H26s H |ZAFE ®20mm A3 A A 12,027 12,027
i 2 3(=5) 0.06 el 163,848 9,830.8| 163,848 9,830.8

2808 0.02 ol 109,819 2,196.3| 109,819| 2,196.3

0

H27sE | ZdAHE ®25mm A3 A ) 16,402 16,402
i 2 (=) 0.08 el 163,848| 13,107.8| 163,848| 13,107.8

2SR 0.03 el 109,819 3,294.5| 109,819 3,294.5

0

H28s H |ZAHE ®40mm A3 A ) 20,777 20,777
i 2 (=) 0.1 ol 163,848| 16,384.8| 163,848| 16,384.8

2828 0.04 el 109,819 4,392.7| 109,819 4,392.7

0
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N; M ot b
g & & e = AL | 2HER | RE2IHVATHL| ML | 4 2 X A
o= m 25-21- 8 59,400 59,400
orAm Ton |#78(E=8) 57,000 57,000
#67(0158) 50,000 50,000
240 01 O 4 i 100%100 4,240 4,240
g ) 1,318 1,318 1,318 | A =t )
34 = ) 1,104 1,104 1,104 | 2moH(=otHEE)
HIL (peZ E) m | T=0.03mm x 90cm x 91m 162 162 162 jur== oz 1@s pos
SXIIETH m 2P| L& 13,000 13,000z =as(om)
SXIIETH m 2P| L& 13,000 13,000z =xs(om)
2 N m | 2ety|Z & 30,000 30,000 jwrzs == (o4e2)
HOtAZ ton |28l ,VATE = 24,000 24,000 VAT, 28tHI 2 &
H23c2E ton |2EHHI ,VATE & 23,000 23,000 VAT, 2eHHl2t &
N ea 50 x 15mm 37,100 37,100 37,100 37,100
olgg s ea D20mm* 15 4,200 4,200 4,200 4,200
MPR = 4 Zi ea D15mm 1,362 1,362 1,362 1,362
(AZZDFH2 | ea D15mm 2,060 2,060 2,060 2,060
N ea 50 x 20mm 48,500 48,500 | 48,500 48,500
olgg s ea D25mm*20 4,540 4,540 4,540 4,540
MPR = 4 Zi ea D20mm 2,350 2,350 2,350 2,350
(AZZDFH2 | ea D20mm 3,540 3,540 3,540 3,540
Mo B ea 75 % 25mm 65,600 65,600 65,600 65,600
ol ea D32mm*25 6,190 6,190 6,190 6,190
MPR = 4 Zi ea D25mm 3,770 3,770 3,770 3,770
(AZZDFH2 | ea D25mm 5,358 5,358 5,358 5,358
Mo B ea 75 % 32mm 78,900 78,900 78,900 78,900
olde = ea D40mmx32mm 9,640 9,640 9,640 9,640
MPE = 4 Zi ea D32mm 6,660 6,660 6,660 6,660
(AZZDFH2 | ea D32mm 12,669 12,669 | 12,669 12,669
Mo B ea 75 % 40mm 122,600 | 122,600 | 122,600 122,600
ol ea 50 x 40mm 13,710 13,710 13,710 13,710
PEHESWMEAT | ea D40mm 24,220 24,220 24,220 24,220
PEAZ ea D40mm 6,550 6,550 6,550 6,550
Mo B ea 100 x 50mm 165,300 | 165,300 | 165,300 165,300
EFHMAZRUE | ea D50mm 21,850 21,850 21,850 21,850
=0l ea | D13mm(1006H =) 44,000 44,000 44,000
=0l ea | D20mm(100HH &) 50,300 50,300 50,300
+Z0IE | ea | D25mm(1008HE) 74,000 74,000 74,000
= 0/E D] ea | D32mm(100HH &) 98,000 98,000 98,000




Xt M

g & =g 7T = ZEEOL SSS2IHVATHL| MBI | H & X A
=S 0182 ea | D40mm(100HHZ) 149,000 149,000 149,000
Sa=l=p) ea | D50mm(100HHE) 190,000 190,000 190,000
HEIESS ea D13 x 800mm 59,700 58,700 58,700
HEIESS ea 020 x 800mm 83,500 81,800 81,800
HEIESS ea 025 x 800mm 94,700 93,300 93,300
HEIESS ea 032 x 800mm 128,900 127,900 127,900
HEIESS ea 040 = 800mm 194,900 193,100 193,100
HEIESS ea D50 x 800mm 226,200 224,900 224,900
SEmor= m OIEtZ D15mm 1,350 1,350
SEmor= m HIEFZ D20mm 2,440 2,440
SEmor= m OIEt= D25mm 3,590 3,590
=50l T m HIEFZ D32mm 6,140 6,140
AENAEH m | 223x112.5%60 7,800 7,800




